ACMAT117 Fall 2024
Professor Manguba-Glover
Sections 4.3 Classwork (CW 13) Name:

Complete as many of the following problems as you can with your group. You do not have to go
in order. Each person will be given two specific problems that they must complete and present to
either Professor MG or to Stefanie before they leave.

(1) Divide 2t

o1
Solution 22+r+l
T - 1) 3 +1
— 2%+ 22
72
—2+z

r+1

—x+1

2

]
(2) Divide 2464
Solution 20+ 2zt + 423 +8z2 + 162 + 32
T - 2) 0 +64
— 25+ 225
220
—22° + 424
4g4
—4z* + 823
83
- 823 + 1622
1622
~ 1622 + 32z
 320+64
- 32x + 64
128
L]



(3) Divide %

3
Solution r -5
x—3) 22 -8z +4
— 22+ 32
-br +4
5x —15
-11

(4) Divide Z=62=2

z+5
Solution r-11
a:+5) 2 —6x -2
—2% -5z
-11lz -2
11z + 55
53

.. 3 2_3._
(5) Divide 27x°+9z“-3x-9

3x—2
Solution 922 +9z +5
3v-2) 272° +92° -3z -9
— 2723 + 1822

2722 -3z

— 2722 + 18z
152z -9
- 152 + 10
1



‘s 6_64
(6) Divide ©=

Solution 2®+ 22t + 423 + 822 + 162 + 32
T — 2) z8 - 64
— 25+ 225
225
- 225 + 424
4z4
— 4zt + 823
83
- 82° + 1622
1622
—- 1622 + 32z
32z - 64
- 32z + 64
0

(7) Divide (1222 + 7z — 4) + (4 - 3)

Solution 3xr +4
4z-3) 122? +7z -4
1222 +9x
162 —4
~ 162 + 12
8

(8) Divide (923 - 322 - 52 — 25) + (3x - 5)

Solution 322 +4z +5
3z-5) 92% -32% -52-25
- 923 + 1522

1222 -5z

- 1222 + 20
152 — 25
— 152+ 25
0



.. 3 2 _
(9) Divide 4x°+17x°+12x-2

r+4
Solution 472 +x +8
x+4) 423 + 1722 + 122 -2
~ 423 — 1622

22+ 12z

-2 -4z
8r -2
- 8x — 32
-34

(10) Divide (22* + 523 + 722 + 162 + 15) =+ (22 + 3)

Solution 2 +12% 42z +5
2¢+3) 2z*+52%+ 727 + 162 + 15
— 2z* - 323
223 + T2
- 223 - 322
42° + 162
—42? -6z
10z + 15
- 10z -15
0
(11) Divide (32 + 22 + 2z +5) = (2% + 22 + 1)
Solution 3z -5

x2+29:+1) 323 +22 +21 +5
—323 - 622 -3z

-522 -z +5
522+ 10x +5
92 + 10



(12) Divide (3z* + 2% - 1722 + 192 - 6) + (2? - 2z + 1)

Solution 322 +7x-6
a?-2x+1) 32t +23-1722+192-6
—3z% + 623 - 322
723 - 2022 + 19z
—Txd + 1422 -7z

—622+122-6
622 -122+6
Oz +0

Optional Challenge: Apply what you know to (22 + 1222y + 152y — 9y°) + (x + 3y)

Key:
(1) @ +az+1+ % (8) 3z +4x+5
(2) o°+22" +42° + 827 + 162 + 32+ 128 (9) 422 + 2 +8+ =2
3 —54 =11
() @ T3 (10) 2® +2%+22+5
(4) z-11+ 7% 11) 32— 5+ _9u+10
(5) 922+ 92 +5+ (1) 3z -5+ =250
o

- 2
(6) 2°+2z" +42® + 82 + 162 + 32 (12) 32+ 7z -6
(7) Bz+4+ Challenge: 22 + 62y — 3y>




